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uration of paper O ours

PART - I : PHYSICS of radius 50 m. What is his inclination

1.

n (g =10 m/sec2)
A rifle man, who together (a)tan-1(%) (b)tan-1 (1/5)

with ns krg'f'estgisdsa mass (cytan-1 (3/5)d)tan-1(1/10)

smooth surface and fires & A Smka”tb|0Ck of mass T]
10 shots horizontally. ﬁ\clin%% osnurf:cerougof
Fa)@h nbsu-lfet haOS)0a8|m~ra§§11?c inclination q fixed in a
gco)ad”é)8anfr%u4z V%%C;rﬁ%f{’l elevator. The elevator

htrsa_'trhe rQ‘FF’Veeré)F%IQg goes up with a uniform

éJtrib%Chrm yafterfrofmrmgpreﬁg Véalﬂe?dfgy v ar(d mliget block

a_ maximum vf‘ n2 0s2 the
sak%?folss s-1 in 20 s. It 7 Eh‘]@]l%‘&itﬁf(&'Of fﬁfn q/? e

travels at the speed for .
2085 and is bought to kzapégbl@fck rlnndtl%% WI||
Eesh/s withy mseniform rests on a)

e | i By ir 4
A 6@@9@6‘6‘1@ §n @e&hﬁth 9 Eﬁﬁg

\Pe | u h§a|(<t| /#hV &h e‘%'tdqn the pr|sm as shown in th
elofkty dHKeHs ?Qﬁ,zpoer{ Qe fo ¢ %'Cc'S@fffluent of friction is sufficie
hat is the inagnitude of é? thatithig, prism does not slide befor

chyangesia veldoity when it en the 'mMinimum force required to tu

[&)at stimeq lgh( eF)tu Pl tg — u prlsm is -

For the equation F = Aavbdc, w F e forg
A is the area, v is the velocity OI-‘(‘SET@L% den y%d nme
) )f?zf ) 24—
the values ofa b and c are respe @lvely

(a)1, 2(b0)2, 1(ch1, 1, 20d)1 . A spherically symr‘lr:e:glrcrgErathatlonal
A person with h'S hand in h'S PPLE & | bSs Skaast i) gnapgs density r=

on ice at the rate of 10m/s and describes a circlé0 for r >R
wherkeis a constant. A test mass can u



10.

11.

12.

13.

circular motion under 14. In the kinetic theory of gases, which

the influence of the statements is/are true ?
gravitational field of (i) The pressure of a gas is proportion
particles. Its speed V as (ii)mean speed of the molecules.

a fwnction of distance r

(0 |< r < ¥ (iiiThe root mean square speed of the
h

rom the molecules is proportional to the pr

)
e pystem is

((:;)Sﬁre:_o_f_ (t.j o) The rate of diffusion is proportione
; mean speed of the molecules.
r —é—r (iv)The mean translational kinetic ene

gas is proportional to its kelvin temp
( (i) dhd (iiij)aodlyiv) only
a (i) and ((uuu))b@rmqiy(lv) only

[ o)
(0]
-
~
(0]

(c) (d) 15. Ywo balloons are filled

bne with puré he gas and

r R r 6ther wd t h air

The load versus elongation grapdsfectiogrywlires|f the
is shown. The thinnest wire is preggygemmME earglgrﬁr@qjubea”oon

Load P af sathesi; bBehl paAMD ol e

Q $ameorthignatherinepherniebn

R moigcihlesr 96 Ynitgvolume

S 16. Pwo particles P and Q

Hescribe S.H.M. of same

Elongation Gmplitude a, same

(a) P (b) Q (c) R (d) S ﬁrequency\éf anng the

The work done in blowing a so rBEbbSItJ Jght Ilge The

surface tension 0.06 x Nm-1 fr adlus todistance

5 cm radius is ez"é?S rb"/z (c) p/6(d) p/3

(a)0.004168 J(b)0.003168 ] 17. Awtwrpraetlblaessbeem dug through the cer

(c)0.003158 J(d)0.004568 nﬁ@éﬁ@h andbanalt%gil |gernedﬁ%ﬁgd in it. It e

The wavelength of radiation e & PR

depends upon (8)42 minutes(b)1 day

(a)the nature of its surface ()1 hour (d)84.6 minutes

(b)the area of its surface 18. A sound source, emitting sound of cc

(c)the temperature of its surfafreequency, moves with a constant spee

(d)AIl of the above crosses a stationary observer. The fre
nl%aaﬂgglﬁaq,fr% a volume of sound heard by the observer is plot

gg Lifres at 0°C and 1 time (t). Which of the following graph:

. i i ?
atmospherlc pressure in the correct variation =

compressed isothermally A N

so that its volume

%ed%@ezss?fo hy3 72ldtyes.

he 1 mar dopg)-1p72tRis (a) (b)

P ocesy 'S'thermodynamlc L L
process, the pressure of n n

6 fixed mass of a gas is
thanged in such a manner

that the gas releases 20 | d

of heat and 8 | of work is (c) (d)

ome, on the . If the — —
nitigal interna% nergy of

he gas was 30/J)ysthen the

inal internal8eJergy will

e



19.

20.

21

22.

23.

When a strin |s d|V|ded int2d. threwisegmentis ofhalf the
enkxhand /3 f AmgRtal [eaNeNeSGi®Sand half the
6P%Fheec§év%hyr$7é Se rrhge'Héé fundgmendalofreguentye v  of
ring 1s 6adrBilaA(b)4 mdter2al . (d)NThd

25. Aa Didr oofWr 5 8 th rocfe pa P O B 6

_ amalt of deiwterons, each

a)ﬁ_\/ﬁ+\/ﬁ+\/73 havinog | the same

Eg)}‘/ =Tv+ v2 + v3 momentum, enters a

11,1, region of uniform

v vl v2 V3 magnetic field)1directed

1 17 1 perpendicular : ta their
N \/’1 ﬁJrT?) 26. Wig 2 cthenciracfu iahjdmgeurte)Mthe current

Ih&asaticod of htth& nfmkitepfshown is a
Two point dlpolgk "pRrealod ate difm€&h 60 r0Q Y 5k e RE € B aftch 9 n

Heshe eiteedbhyatbleumisresG2ndd e
(0, 0, 0) and (1m, 0, 2m) value of the current is
respectively. The

resultant electric field =
Eue Athe two dippkes at S
f(1m 0 32p)i0i s ™
fth %0 v
(c) None of these 3.00 V
32pd (0.7 (b)0.29 A
9 (d)0.8 A
Electric field in the regggmh %gﬂl\eéﬁg’b)(wcepubumy of a
then the Cokrect maBrfetism at 300 K is 1.2
expression for the & 10-5. The temperature

potgntial in the yegiofy is B4)150 K(qtif)OfD'WcZ)SO K ( Y &
(8FsHME)MAXP @EpREig(d)y5at 28, ?US&?.HU Pityyrnkncha@ses

infinity is zeroé c3 3 1s§ance0 5 'fS 20W is
s an =

Thret® &Qito
pFF%rem gnnlecte as shown in (ngTLPreeCt@ﬁ‘en the

equivalent capacitance betwedh p6PFiesA anghp i&.G. of
resistance 30W. The coil

is placed with its plane

—|C;—C—|CT——|C|3— perpendicular to the
A D B ﬂé{{f;}e'tﬂ@ 5 of 45)3 Ltnquro'”}s C
$uctlo 51 6- Z(de‘?5 Pf ¥i ¢ (?55 C

(a)3 pR(b)4 pRc)5 pHd)6 UF 29 \glgagaMnaad enF6aph i ianAC circuit a
Two long coaxial and COﬂdUCtII&&%)é“dedGOS abou anp
radius a and b are separated Wy= ltrr@a(sg)raml@/o t,;qhdkég éln ¢50t

conductivity s and a constant tae;g alihidigere&ncen
V is maintained between them, t%trg és'glﬁ)\ff}i Y Iq%%e circuit is
2 nder fl®

the current, per unit length of g
from one cylinder to the other (i (d)zero
aps 4ps 30. Resolylng power of the telescope will
(a) t—tbMa) (b)(b+a)v the diameter of the objective is
(a)larger
2ps 2ps (b) smaller
() 1n (b\//a) (d)(b+a)v (c)it does not depends on diameter

(d)None of these
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32.

33.

34.

35.

36.

37.

The magnifying power of a (b)the helium nucleus has more mome

telescope is 9. When it is than the thorium nucleus

adJusted for parallel rays, (c)the helium nucleus has less kinetic

the distance between the than the thorium nucleus

pbjegtipme 2 aRdb)the eye (d)the helium nucleus has more kineti

Q";F@ C'ngJ }%ngeﬂtgﬂgzg 2%0 than the thorium nucleus

e ahn I nt al X e t

Gr'ﬂgleeS e diffeaction Gs (a Ss%ré? B‘A;;h Idnug Sr?c‘f?nuc@ﬁ?ﬁ‘;'ﬁé’n”o?gd”“
21 cm3| number of nuclei A, B an

ﬂa) (b)z (c)2a (d)z—a respectively then

Find the final intensity of Iighg "), |f the angle
between the axes of two polar Ad

(b)rQEbnEBé”’K
anolam D (C)rA irB EbnAg< E
Ligh —sI" (d) B
(c)lo

rA < rB, EbnA > EbnB

For a CE transistor amplifier, the aud
(a )_b voltage across the collector resistanc
2 2 4 is 2.0 V. Suppose the current amplific

The threshold Wavelength of th tymegsttgrhsllss Zﬁgro%sB1oopvahatfszh VI

A. If ultraviolet light of Waveleb hsc‘?uBr'U?—'(eﬁn 0 oo b e AN the sw
incident on it, then the maximum Kinetic energy

of photoelectrons would be ab )14 KW(b)18 kKWOckW(d)5 kW
(a)7.49 eV(b)2.@ )80 eV (d)54 C bination of gates shown below
g)rwhhbetwen stopping potent|a6I %P most &

Ermeqyrgeertd g eumidfeich i bl eto aleditarto s A§ al is

given below. Value of AB/BC, in graph
[where h = plank’'s constant, e = electronic
cha r ge]

A (a)OR gate (b)NOT gate
/ U (c)XOR gate (d)NAND gate
: > PART - II : CHEMISTRY

B
(a)h (b) e (c)h/e (d) e/h 41, .The fo mati%n 02 CI(Duat\rdatCeG the law
If hydrogen atom, an electrof jgfmps f

orbit to smaller orbit so that 3 |us of smaIIer
orbit is one-fourth of radius of, %%leorr%(}éblltprpfportmn

speed of electron in bigger orb(|t)9\Pa”559th4‘1téﬁns;9§erHaSS
in smaller orbit is multiple proportion
dconstant composition
(a) 4 (b)2 42. The wave number of the limiting line i
(c) v (d) 2v series of hydrogen is 109678 cm-1. T|

A nucleus of uranium decays athd@sheihod flyelkimiting line in Balmer
of thorium and helium. Then : would be :
(a)the helium nucleus has less (m)doME3OuameHdN109678 cm-1

the thorium nucleus (c)219356 cm+£d)438712 cm-1



43.

44,

45,

46.

47.

48.

49.

The valency shell of which was originally 0.1 molar in KCN

element A contains 3 molar in3AgN:O
electrons while the ( 7.5 x ( 7.5 x
valency shell of element a 1018 b 10-19

cogptains ele rons 50. The .atfo of oxida®ioh states of Cl in
F? Ajg]combllfgg A\/%cé . t 5@ i1de to th(ath% p8tassium chlorate
t(n)eAZpBBobable formula of

F_\ %)nct%'g‘lpp?/u@fdsuﬁclqm?l%n of%é)l:b‘mlnlum |s“3)31§‘
WJ/A’] Its Ist, IInd and Illrd ionization enthalpigs
are 580, 1820 and 2740 kJ respegtively How( h
heat has too be supplied (in kjcgoticonvert 13?1);'5‘; _
of aluminium into Al3+ ions5bn‘ﬂ/hellfeftt¢f)rﬁbeafojngWMng among alkali m

(a)5470 (b)2735 reactive ?
(c)4105 (d)3765 (a) Na (b) K
Wh|ch one of the following paifts)iBbhsostructdyads
(i.e., having the same shapepangnhhyRrddigRdipdiowing compounds has
( eB - U IUPAC name?

é ClI3 and BrCl3 @ (a) CBl - CH2 - CH2 - COO - CH2CHS3
(b)é H a ) ® Ethyl butanoate
c)e’\‘[lgxlljfi;%'\‘aor’:’rdJ BF3] (b)CH - CH = CH - CHO
(d)8BF4 andiNH4G CH

® 3-Methyl-butanal

N2 and O2 are converted imto n& 1)n((;_l)|_§ntc>‘_[1 CI—[\‘%

and20respectively. Which of th wing
statements is wrong ? o|-| c|-§
(a)ln é\l E%%@ﬁ%g&%ﬁgegfgé?en creases ® 2-Methyl-3-butanol
o)
(c)O |
becomes diamagnetic (d)CHB-CH-C-CH,-

Nﬁ&e enthalpy of vaporization of wat is 186.5
Jmol-1, the entropy if its vaporization3will be :

0.5 k ( 1.0 k ® 2-Methyl-3-pentanone
a JK- b JK- 53 The compound which gives
hhed mh@latis 0 5) n elutBsd Osal g n JhecH most stable
A6 @ GH3 . B N alnghe it equwalent £ OFER @G 1 3 ) C HRMO H on
Arfpnge the gcigg in mcreasméi(% Yg@l’)ﬁg'f@ C&":_'%ilc ,

(c)

) imol-1 ) 1mbiensth. ') C%c HiCHE G2 P H3
(a)HCOOH > CH3COOH > H 2 5% ﬁhﬂ correct order of increasing C - O |
(b)CH3COOH > HXSOO HCGNH CO, GO2¢O2 is:

(c) H2S > HCOOH > CH3COOH > H&¢0 < L0 5 CO2-
(d) HCOOH > H2S > CH3COOH > HENCH < CO2p,

K.for the the reaX]tiadug, [+AZCW,)- gc)co < CO2-
the equillibrium constant at 25°C is 4.0°x 10-19,
then the silver ion concentratib®h IQWOG—% SCCUB'H:O@O
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56.

57.

58.

59.

60.

AHOdrIgagrncreantponund A (C ( - ( +0.
with Na/diethyl ether a 0.3 b 49

gives a hydrocarbon which 4 yhéreduction oVWperoxydisulphate ion
on monochlorination gives

( +0. 0.1
butYP&hiorigehloro ks ggpressgd éy 9W243BOF02-+1-

e rt
Sbe))rs@:.a-tBYﬁyltIEﬂpo'ﬁiése Faté of disappearance of I-is 9/2 x 10
(c)isobutyl chloride s-1, what is the rate of f4ormation of 2

(d)n-butyl chloride during same time?

When rain is accompanied by a(tahgnda@0std mimol Lit-1 s-1

the collected rain water will hayg)2 »H va3ugol Lit-1 s-1

( Slightly lower than that of rgin1wWwaBemuwlitthiout s-1
thunderstorm. (d)4 x 10-3 mol Lit-1 s-1

a
y Slightly higher than that when the
( thunderstorm is not ther@. A gaseous reaction XZ}(E)(QQ)%® Y +
b Uninfluenceyd occurrenoé There is increase in pressure from 10(
thunderstorm. mm in 5 minutes. The rate of disappea
zd)Which depends upon the amepgnt of dust
in air. (a)8 mm min-(b)2 mm min-1

An elemental crystal has a dengdfy e &P Aik&NDInm min-1

Jhe packing efficiency is 0.68. T\{&¢ §I®%28hces R and S decompose in
distance of approach between pedghRadeiMgyatedtn following first or
is 2.86 A. What is the mass 9heOP£t@ t@Mstant of R is twice that o

approximately? experiment, the solution initially cont
(a)93 amu (b)39 amu millimoles of R and 0.25 of S. The mol
(c)63 amu (d)29 amu and S will be equal just at the end of

Identify the correct ordersof spgyth,\}lg)é @R NBalf |life of R
CuS and ZnS in aqueous mediuMp)twice the half life of S

(a)Cupc>_7Z > Na (c)the half life of S

(b)zééﬁ@? 2 €08 (d)the half life of R

(c) 64. The isoelectric-point of a colloidially
material is the pH value at which

Na the dispersed phase migrate in an e
l )the cell reaction E’a field.l P P '8 !
NCg(S) + 2Ag+ (aq) #%® Cu 2+ (3q)theAg§éplersed phase does not migra
EOcell = 0.46 V. By doubling the cBEChtT Fifdf of

i b the dispersed phase has pH equal t
Cu2+celdis the dispersed phase has pH equal t
(a)doubled 65. Which of the following halogens exhil
(b)halved ne oxidation state in its compounds
(c)increases but less than dou%lae) Bromine (b) Chlorine
(d)decreases by a small fractioficiuorine (d)lodine
§8Ltib% andnSiableoesin 66 tarch can be used as an indicator f
simuﬁtaneous oxidation etection of traces of
and reduction according (a)glucose in aqueous solution
oC thg arcp)a Ctiom(aq)+Cu(s) (b)proteins in blood

(c)iodine in aqueous solution

choose correct E° for above rne3gte@nirnfblood

E°2+ = 0.34 V and E°2+ = 0.15 V
Cu Cu



67.

68.

69.

70.

71.

72.

Which one of the
following arrangements
represents the <correct
order of electron gain

egnhaloy< €widiFcinegrakigec

The decreasing order of acidity of the
phenols is
( 1> 1v ( 1> 1>
a > 11 > | b v > Il
WB. Thd PodVzation cblhstan¥Y of phenol is h

dgk ciaf o <tB8 < s8kvern ¢y thalt aflélthanbl Belcaulde :

thoi TH S o P Cc'oels‘o?u red salts :

Non-metals

Metals

p-block elements
Transitional elements

(a
b
d
d

(
(
(

The correct order of magnetic

values in B.M.) is:

(a) [Fe(£N) 14-4>[NQCdfI2- >

(b) [MpCl ]2- % [Be(CN) 14- [Cogl 12-

(c) [MmCl>]12- 410 CFle pCAH

Phenoxide on is bulkier than ethox
PhenoxidelJion is stronger base thar
ethoxide
Phenoxide ion is stabilized through
delocalization
o?nheenqu('sfjpeiﬁoonn\§/ less stable than ef
74. Che reaction,
“H = 34C40332H360
¢H3-H CH244H1 759

o~ on

CH3CH- CH3
) COOH

(d) [Fe(Ny J44 [CoCla2- [MNnCli2 known as:

(Atomic nos. : Mn = 25, Fe =(2pWCapot= rek7a)ction
The number of double bonds in gKmootexanetion

()0 (b)1  (c)2 (d)3
0
| |

Ph - CH - @Y5ED

OH
(P)

b Clemmensen reduction
) Kolbe’'s reaction
75. Aniline reacts with phosgene and KOH

C
) OH
(
d

a)

P and Q are isomers. Identify b

o)

||
(a)Ph - ZHC - OH

0
(byph Llc —j0cH
0
o n 1l Sew - pn
0

I
(d)Ph - C 2 CHOH

Consider the following phenols_:

OH  OH OH OH
i j : :’L NGO
CH NQ

(1 (1) (ren (1v)

(b)

—NHCOCI
(c)

—NCO

(d)

©){0)(9)

76. Which one of the following monomers
polymer neoprene on polymerization ?

(a)CR = CF2
(b) cB = EEQ
(c)ycCcl

(dyCHZ C—CH = CH2



77.

78.

79.

80.

Which of the following 8. The greatest positive integer, which

canlpos_siblyhbe used as n(n+1)(n+2)(n+3) foriall n
analgesic without causing

addiction and (a)2 (b)6 (c) 24y(d) 120
modification? (a) 87. \I/\}chere o tid equ |3§:Ea=—k/b02them2)
morphine (b) N-acetyl-

pd)tetamh g d pheatelnol (c) 2

Wikaizzdpamong the following is najlan &gbtibiott9?3 (d) 4

(a) Penicillin(b) Oxytocin . 1

(c) Ofloxacin (d) Tetracyclings. ’573’2”*,5Wheirm%lified has the value
Which of the following ions can be separated by

aq. MBH in presence of NH4CIl (a)0  (b)2i (c)- 2i(d)2

( Al3+ and Fe3+r3+ and AI8% The complex number z = z + iy which s

a Cu2+ and AU3None of these 73]
.92 g of ferjous ammonium Sﬂh@béﬂh%ﬁ#&hcﬂ, lies on

%ompletely w%dq%@pmsjolution. [8fche x-axis
percentage pyrity of the sampl@jshe straight line y = 3

(a)50 (b)78.4(c)80 (d)39.2 (c)a circle passing through origin
. (d)None of the above
PART'IH-MTHEMATICS 90. The number of all three elements subs
8l. The set (B (\BB) A) is equal to] set1{aa2, a3 .. . an} which contain a3
(a) [A\(@B)T [B\(AGB)] (a)né (BINGTRe of these
(b)(AE B)\(@B) (c)yn -4 C
(c)A \ @B .
T 91. In how many ways can a committee of
(d)AC B\ AE B _ out 6 men and 4 women containing atl
82. The domain of the function woman?
- 2 (a)246 (b) 222
F(x IZécg I?/gzéii tgis (c)186 (d)None of these
(a)(0, AP)(0, 14c)[1, ¥) (W 92. The coefficient of x4 in the expansion
b o -q6 (1T + x + x2 + x3)11, is
83. Cosg% +-5'”§g = (a)440 (b)770 (c) 990d) 1001
%1 & 93. If 0O, T1, T2..... Tn represent the term:
(a)i‘ioﬂz (b) 0 expansion of (x + a)n, the®(T-T2 + T4 - ....... ) +
(c) -=co92 d1 (h =t +5T'_'2)”:.
2 (d) (a) (x2+a2) (b)(2+a)n
84. The solution of(2 cosx—1)(3+2 0 = n th
interval 0 £ x £ 2p is 2C+a§)xh)/ (d J(x +a2)'"
p5p 94, If the(2p)th term of a H.P. is g and tFt
(a) 2 (b) 5 is p, then the 2(p + g)th term is-
3
qd)None of these pPq 2pq
(c)p cosaeL% _PA P
oS (3) 2 (pa) (P54
85. 23n - 7n - 1 is divisible by ¥
(a)64 (b) 36 P A (d)r;qq

(c)49 (d) 25



95.

96.

97.

98.

99.

100.

101.

102.

103. Let R = {(3, 3), (6, 6), (9, 9),

(12,

12),

Ifl, 1.1 are in A. Pg, Hl,el]o (3, 9), (3, 12), (3, 6)} be a relation on
a b c Co A =4{3,6,9, 12}. Then, the relation is
. (a)an equivalence relation
1,119 45 equal to (b)reflexive and symmetric
eb ¢ ag (c)reflexive and transitive
4 3 b2 -ac (d)only reflexive
(a)?c 2 (b)a2b2c2 104. Let f :R®R be a function defined by
(c);c—i2 (d)None of these f(x)=x_n' where m'n, then
b

The product of n positive numHdé)§ is amerpnehleRtie one-one into
(c)f is many-or(ei)cﬁniSomany-one into

their sum is

(a)a positive |(rbt)dg\,en5|ble by n é IP
(c) (dinever less thd.nfFimd vheue szttanr’i 4“
If Rqual td n+ g
n (a)- 1/Bb)- 7/1¢2)- 1/d)y» 1/4

nd P2 be the Iength of perpedadibwlars from

1 a
the origin upon the tralghgo.{,lnfeg ¥ageds squamseo®t of identity mat

e
a and x cosq - y sing = a cos2q-respectively,

d th -
then the vallue Bpp 4P2 oree! el

(a)a2 (b)2a2 (c) a2/d) 3a2 (c)1T-h@2vaID§ tslPall + bg =
The angle of intersection ofitheotwohithclese lines

X2 + y2 - 2x - 2y =0 and x2 + ¥y3,544=-43,8x-11y=33 and 2x-3y+1=0

(a)30° (b)60° 90°(d) 45°
An arck(l c)>f a b(rcl)dge (ls)seml—elIlaprt‘%c(aqr\ﬁﬂwngbsr

axis horizontal. If the length t bas
and the highest part of the br|lgaeg)e T|3s ??:bmetﬂ(é r7om (d) 9

the horizontal; the best approximat Xr11o)fs41,41pf 1
height of the arch. 2 meter quohef(}*é fentrexoﬂ the

base is 0 ifx=1
(a)11/4 m8B3 mc)7/2 m(d)2 m

/%0 . Then which one of the following is tru

1im ( (co¥kk/¥0i§ equal to : (a)f is differentiable at x
(b)y="0 and x =1 f s
(a )0 (b)1 (c)d|fferent|able at x =0
(c) b (d)None of these (d)but not at x = 1 f is
109,Theilfrﬁ@éevéllabdewautlcm =t hle
If M. D. is 12, the value of S.DfuubPtitipdot Dtxx = H f iis5
(a)15 (b) 12 inchreitdey differentiphd ey
(c)24 (d)None of these Q)aed(ﬂh?%@uq‘f%%fﬂhcm%es

A bag contains 5 brown and 4 2¢ ¥bcilng Ad ) Noaie olrthese
man pulls out 2 socks. Find 11b.ep prpbdath dintay thatto the
they are of the same colour. square of the speed
4 5 generated in miles per
(a) = (b)= hour and costs °~ 48 per
9 9 hour at 16 miles per hour.
5 7 The most economical

() g (d)g

FRASE ALY @S oA

to” ° 300 per hour is

a)l + a2 + bg €01 + a2 - bg

=0

{



111

112.

113.

114.

115.

116.

117.

1, . ) .
Evalugte  ogdx sin®{0 (d) si®lg
X +8c0s2 X (c) ¢ ?2—@

2%

(a)ttan2f4dncx) 118. The equation of the right bisector pla
(b)6 segment joining (2, 3, 4) and (6, 7, 8)
t§itan-1(2&anx) (a)x +y + z + (Bx=+0y + z - 15 = 0

Tiane® tar?ic (c)x -y +z - (&)Nolhe of these

6 3 j 119. A bag contains n + 1 coins. It is knowr

None of these of these coins shows heads on both si
10 10 whereas the other coins are fair. One
9M6X+|8160qua| to selected at random and tossed. If the

1 tf};at toss result%jrtﬁﬁena(ﬁbeisvalue
(a)10 (b)5 (c) 2 (d)2
The area bounded by the x-axis, )the curve y= E(x)

and the lines x =1,k 2=, /s equq:l)to (d)None of these
for all b > 1, then f(x) is  120.A coin is tossed 7 times. Each time a r
(a) Jx- (b)yx+1 head. Find the probability that he win
\/X_Lt’l (d) X on more occasions.
VI +x2 3 3 E 3
Solution of differential equaticg‘raw) (b) (c) (d)
anando 8 o & 121. Considef? 1 a%dY £ 1, x, y 2 0. Then
2aexody yz%yfa %e;a%yfa is 2 4 3 2
Xe g d a number of possible solutions are :
éyg dx 2! 3! )
X (a) Zero (b) Unique
(a)y2 = x2 (In Tx2 - 1) C(b)y = ¢ (ARiXite!) *(§)None of these

2x2
(c)¥2= x (In x - 1Yy=% C(d§ 91 e, 100
If the middle points of S|de122 Ié &uAeBno/%\
triangle ABC are respectively D, E, F then position
vector of centre of triangle DEFa)wZﬂeOwOﬁomtldor) 299A

vector of A, B, C are respectlv?Ey101A (d)None of the above
PI"+j7 ) +kT kT +iT s
o« A . Ao « A I\q_y r-z
E?f%(l + _/(’b'l)k(l)’\'l'lﬁ.l p?<x g r-z=0, then the value of
2(+’}'A+)/<A 3"+ +kT) prea.y T
The angle between any two diagQGF(ﬂal—roi%a cube is

o 6c) 30° (d)tam-1(2 2y Y
(a)45°(b) 60 i (a)0 (b)1  (c) 2 (d) 4pqr

X+ 1 Z -
Find the angle be %B/”The j24, Ihrough the vertex O of a parabola y2
2

and the plane 10x 211z =PP and OQ are drawn at rightanglgs
another. The locus of the middle poin
. @80 in-1256 (a)y2 = 2Xb)8y2 = x + 8
(a)sinfZhe  (b)s " kB 10 (c)y2 = 2Xd)8y2 = x - 8



i1-sin3 x 133.She did not believed me.

_ x<§ ( believing (b)elieve to
j3c0s2 X a believe (d)No improvement
I .
) _p 134).1 am fine, what about you?
125. Let f(;gl!m, X_z_ (a)your (b) your's
j[q(-15inx)x P \Cc)yours (d)No improvement
':T (p- 2 x4’ 2 DIRECTIONS (Qs. 135 -137): Fill in the blanks.
. r&u 135.They were afraid ........... the lion, s«
If f(x) is contiruolps, at) x = the idea of hunting in jungle.
21y (a)in (b) to
(a)(1, 4) (b)g5 "o (c) from (d) of
(el 2 1.36.0ur compan i d fitabl
&, . ) y signed a profitable .....
& o (d)None of these(a)issue (d) agenda
PART - IV : ENGLISH (c)deal (d) paper
137.What is your ......... for tonight?
DIRECTIONS (Qs. 126 - 128): Out of the four (a) Principle (b) Motto
alternatives, choose the one (c) Plan (d) Objective
which express the correct -
m e srrrrg—of—thre—worc- DIRECTIONS (Qs. 138 - 140): Arrange the following

sentences in correct pattern and mark af

(P 1t YEMENT () Decrease combin ation .

(c) Save (d) Mention 1381, Today we live in modern technology

127. CONSOLATION P. We have a log of problems now.
(a) Comfort (d) Problem Q. We want to get everything in one d:
(c)Sadness (d) Solution R. Ancient time was quite pleasant.
128. AUXILIARY S. We has no problems then.
(a) Chief (d) Supplemental - Perhaps greed is the main cause fo!
(c) Negligible(d) Separate (a) PQRS (b) PRSQ
(c) SRQP (d) RPQS

DIRECTIONS (Qs. 129 - 131): Choose the word

opposite is meaning to the givéw-worHe is a common man. ,
P. Yesterday our city saw a brutal crin
129. AUSPICIOUS

Q. Police is trying to arrest innocent j
(a) Prosperoueb) Unfavouralle The criminals are well known.
(c) Improper (d) New S

Police as well as whole system in c
130. RECOMPENSE 6. Police will arrest him as he is an e:

(a) Emolumentd) Reward target because of being a common ma

(c) Payment (d) Penalty (a) PRSQ (b) PQSR
131. IMPEDE (c) PQRS (d) PSQR
(a) Block (b) Delay 1401. | want to change the room.
(c)Push (d) Freeze P. Last month | got a job.
DIRECTIONS (Qs. 132 - 134): A part of sentence is Q. | had been living there for six mont

underlined. Belence are givenRalterimetiafdéceoisfar from the room.
underlined part a, b, c and d which mawanmpoovetthepenses of travelling

sentence. Choose the correct adternatope.fully | will do this next week.
132.They requested me to follow)tRAMS (b) PRSQ
(a)ordered (b) urged (c) QPRS (d) PQSR

(c)asked (d)No improvement



141. I'n a certain code 148. Here are some words translated from
language, ‘'SAFER’ is la n guage.
written as ‘5@3#2' and mallon piml means blue light
(RHDE’ is whist@ms as mallon tifl means blue berry
#', how pgoudeoPEDS’ arpan tifl means rasp berry
142. PENY M EHE "mis $PRE GAdR b er frowhﬂﬁ@ woydnpcould means “light house’?
Bédsonse. (a) t|flmaIIon(b) pimlarpan
(c) mallonarpdd) pimldoken
O (6) 149. What is the water image of below figu
(7]
© @ O
(a)72 (b)720 (c) 72Q@) 38
143. 1f the first and second
letters in the word
DEPRESSION were (a) (b)
interchanged, also the
third and fourth

144,
anh R81ay
) ﬂw% &

t@r phe( )le{tf“(d aSnd
LS ?(st?T IBiSE L5

Jufd

aPy aft((-'_-

b
tt}-é/c%)jllowmg repr%@e/‘htps'%‘b%loﬁprﬁé)ser is folded and penche
orles and fields? in the figure below

(a) (b) (c) (d)

How will it appear when unfolded?
: @ =

(a) ‘,,é (b)

Find out the missing term in the g

145. |

areeeeeennnannans -

146.

1, 125
(a)52 (b)58 (c) 64 (d) 65
147. 1f '+’ means 'x', '=" means ‘+’, ’:zé_)r' i a?éi)
‘+’means’—’,then6—9+8>< 3R
(a)- 2 (b)6 (c)10 (d)N2 41
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